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Assessment g: clear patch as reference white

< %\’E"o
o \9‘\
o
6‘ vl

-100  -100

a/ ® -0

0
100

Assessment 'g'

b*

100 -

60

40

20

20

-40

e0 |

=100

Assessment g: clear patch as reference white

90 |-

80

70

60

50 -

al

20

Tawme
‘

2

100

0
-100

100



L

L

s At
/

-

Assessment h: clear patch as reference white

o

-100 " -100

Assessment h: clear patch as reference white
[S)

P

QJ‘;G\
\ L
!

80 60 40 20 0 20 40 80 80 100

Assessment 'h'

Assessment h: clear patch as reference white

T /

-100 80 60 40 20 0 20 40 80 80 100

© —

0
-100 -80 60 -0 -20 0 20 40 60 80 100



Assessment i’

Assessment i: clear patch as reference white 100 Assessment i: clear patch as reference white
sf e
kol so|
100+, 4
P
90 / w0l o/
804
704 T 2wk
60 4
o
o L of ] %
40 -— . eﬁ -\-O/o ~—
304 ook
2 \
10 a0t \ﬂ.
60}
80}
100 s L ' L L ' L L I )
-100  -100 -100 -80 -60 -40 -20 0 20 40 60 80 100
a*
100 Assessment i: clear patch as reference white 100 Assessment i: clear patch as reference white
r = r 0
0 G\ \ /0 w0 ;{ Q\
80| \ 80|
0F 0F \
80 80
50 L s0f
40l 40l
30 30
20 20
10 10
0 s L ' L L ' L L I ) 0 s L ' L L ' L L I )
100 80 80 40 20 0 -20 -40 -60 -80 -100 -100 -80 -60 -40 -20 0 20 40 60 80 100



Assessment 'n'

Assessment n: clear patch as reference white

-100  -100

Assessment n: clear patch as reference white
o}

100 -
so|
@/ L]
o T
80 —
70| y 5 )
g0k e ®
-
s50f - -
o ®
40+ [
'Y
30+
20
10
5 , . . . L . . L . )
100 80 80 40 20 0 20 40 50 -80 100

b*

100 -

80 |-

60

40

-40

Es

=100 L

Assessment n: clear patch as reference white

90 |-

80

70

60

50 -

al

20

-40 -20 o 20 40 60 80

100

0
-100 -B0

100



Assessment o: clear patch as reference white

-100

-100

Assessment o: clear patch as reference white

d

/

—

/

/30 o

Assessment '0'

b*

]

-40

Assessment o: clear patch as reference white

L
-100 -80 -60 -40 -20 [} 20 40 60 80

100

00 -80 -60 -40 -20 [} 20 40 60 80

100



Assessment p: clear patch as reference white

Assessment 'p'

b
100" -100
10 Assessment p: clear p:u:h as reference white
e —o
ol
= = ~
80 - c&.\;\ 4 ~
oL
L
/. —
B0 -
e e I
50 . Q. 5
al .
ol
ol
w0}
° | | | | | | I j
100 80 50 40 20 [) 20 40 -100

Assessment p: clear patch as reference white

/

-40 -20 [} 20 40 60 80 100

-40 -20 [} 20 40 60 80 100



	Contents
	Assessment 'a' 
	Assessment 'b' 
	Assessment 'd' 
	Assessment 'g' 
	Assessment 'h' 
	Assessment 'i' 
	Assessment 'n' 
	Assessment 'o' 
	Assessment 'p' 


